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Part I :- Circle the letter corresponding to the correct answer :-

1) Solve the following system of
equations using lQaussian
elimination
X —. 3y +5z=14
Ix -2y =-12 =

<

> Ay+z=17-
AY (-2,3,5)
B) (3,-2,4)

C) (5,-2,3)

D) (-2,3,-5)

W
ok

2) What is the augmented matrix
for the given system?

S y—z=6
3x—y= =7
3x — 4z =2

A) [0 -1 -1
[3 -1 O]
3 0 2

By [0 -1 -1
0 3 —2]
3 0.2

D)*,\_.I : 1 -1 | 6 ]

el il aladiuly cialeall sl da (1
x—3y+5z=14
Bx—-2y=-12

4y +z =17

N laal) Al da gall 43 ghiaal) iS) (1

- -1 48y
2x- 5y = 15
3x —y = —12




3 1.2

-0.1

3) FindABif A= [(;15

] and B = [_0';}

—0.2

A) [0.62 —1.2
—1.5 5.4

B) [-0.62° 1.2

1:5 -15.4
C) [15.4 -1.5]
=12 0621
D)’r-15.4 15

1.2 —0.62

4) Find the determinant of matrix. CugSaa 32 o) ol 48 ghiaal) 2aae 22 gl (4

Then Find the inverse of [_i —6 [ , 4y 43 gliaall

, if it exists

Dy 2 3]
— -1_|7 7
14 7
5) Find the midpoint of the line il g Aagiiual) Axkdll Ciaiial) Adadi 4%{‘ (5.
segment with endpoints Lgblgs
A(-1,5) < B(3,-9). ._ A(-1,5) < B(3,-9).
A) (1, —2)#
B) (=2,7)
€)'(1,7)

D) (2,—4)




6) What is the distance between O bRl Cp Alusal) 3290 (6

A(—S, 3) and B(O, _9)? A(—S, 3) and B(O, —9)?

A) 13 unitswl;,"
B) 26 units
C) __}69:units
D)/:\’i 6.5 units

7) Graph equation of parabola ¢ (ASal) adalll syl (7

_ 1 2 1
x=-30-2f 1 x=-ZO0-2%+1

BGraph Limited School Edition




A) x? +(y+6)é =53

B) x* + (y+6)? = 53

C) x* + (y—6)2 = 53

D) x2 +(y+¥6)2 =29 -

A

9) Find the center and radius of
the c1rcle with equation

x+y+8x -2y —8=0

A) 4,-1);r=5
B) (—4,1); r= 25

C) (—4-, 1)/’, (r =5

D) (4,.1”’1); r=25

MJMM‘MJ‘QLJJSJAM hj‘(9
5 Al

x+y+8x 2y—8=0




10) Write an equation for an ellipse
that satisfies each set of conditions ,

center (—1,2) ,vertex
(—-1,7)and Co-lyértex (=5,2) |

A) (x+1)2+ (y _2)2 - 1

16 25 ,
B) Gr)? -2 _
. 81 36 .
Cy -1  0+2? _
25 16

2 —2\2
D) a+»* 0-2° _,

12) Determine the type of conic
section that represents the
following equation?

5y% — 3x

A) para;bola (AlSa pdad
B) c1rcle 3 il ’
C) elllpse ol &hﬁ
D) hyperbola i aké

58y (g} aBlil) aladl) Adalas 22 1 (10
38 el Al g (—1,7) 4ml s (—1,2)
(_51 2)

Fiay Al ag Aall adall) £ o 3aa (12
- Ay Aataal)

5y%2 —3xy + 2x% —8x+2y=0




13) For a field goal attempt , a ball is SJSS“JSJ Al ha ey dglaa A (13
kicked with the velocity 90 ft/s at A &4 300 429132 90 fit/s 4e s
an angle of 30° with the ground. Find Aol ) g A8 LS jal) alia aa g

the magnitudes c;f the horlzontal and
vertical components

A) |x|=45V3, |yl =45

B)f}’ilxl = |y| 45\/_ | 90 ft/s &2
C) |x| =45 , |y| = 45 B ———
D) |x| =45V3 , |y| =45V3

14) Find the component form and axiall J gl g 438 sal) 3 ) gual) 2 gl (14

magnitude of AF with initial point adadi g A(7,—4) Lol Ak i AB
A(7,—4) and terminal point B(3,—1). 7 B(3,—1) 4“4

A) AB =(9,-3) , AB‘ = 310
B). 4B = (4,-5) , |AB| = val

C) ,ﬁ = (4,_35" . |AB| =5

D) 4B =(-4,3) , |AB| =5

14) Use the dot product to find the
magnitude of a= (—1,—4) |




Part 11 :-
16) Ahmed, Ali and Sultan visited the book fair in Sharjah to buy the
following books as shown in the table
Qe A LAS‘\.\SM\ sty ;‘JMAMJMUHUSS\ QA}ADJU}U%Jujﬁjm‘ 91.5(16
, Jeaall

Literature| Science Art total paid amount

o) asiall | Al el Alan)

~ .fAhmed 5, 4 1 2 .. 266
Al 4 7.0 3 332
@' |Sultan | " 6 2 5 282
Count the number of books of each type? &5 JS (e Gl axe G
T TSROSO PP RRUPPRRRUPRRRRPRRN

cesess sl cietttetectcnennaaghadstesssessecccvevsostfectiettteccctcsessiaFectacsttottctoenennnnn

17)Write an equation for parabola descrlbed vertex( 2,1) ,focus
(—1.5,1) ,Then graph the equation ‘ ;
Ailabas auyl a3, (—1.5,1) A (—2,1) 4nly sl (Alsal) adall) Adalaa 3340 (17
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18) Graph the hyperbola. Identify the vertices , foci and asymptotes.
o AR Agdadh g A )5 9 Ay 22 g i) 1) adaill) s ) (18

x_z_(y_—l)2:1
WE’L 9 . 4

U PPPTT NP FRRY LY
R T T T O N e J

" X
..... e s e e eesesea e et aaeatasseassssanasoses — b :1 — — é »
.............................................. =
............................................. =T
ooooooooooooooooooooooooooooooooooooooooooooo l{}raph e
J.f ......................................................................
19) Find a unit vector u with the same direction as v = (3, ;'1)

(\/5 —1) 4adial alqu\uamﬂdﬁ\uodaj\MLj\ (19

J' .......................................................................................

DI R I I R R I R A S R I I R R R R R R I R I R R I A I R R I I I AT A A A ST R R AT
T T

20) Find the angle 0 between vectors u and v to the nearest tenth of
degree ‘

.‘

. oww;ﬁuﬁ‘id.uh\uﬁ uvU.\.gm.d‘u.u 9443\)3\&3\ 20
ra —( 1,-2),v=(-3,-1)




